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1.	Obtain the set of the skeleton’s full teams � EMBED Equation.3  ��� by applying the fission algorithm.


2.	Create for each skeleton’s full team a category by:


2.1.	Initializing the includer with the transfers of the skeleton’s full team;


2.3.	Initializing the excluder as empty;


2.2.	And putting into the depot all transfers of � EMBED Equation.3  ���non-congesting with the includer.


3.	Apply the fission to each category, discarding the check for idle categories, since the includer is already a team, i.e. it uses all bottlenecks.
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